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K4 RHE O FIE Eok W2l
ItH —= 2 2 2 11798 +1.2
=5 ZER 2 4 4 11798 +0.2
B E=H 2 7 5 12730 -22
ItH —= 2 3 8 11794 -0.9
K4 FE O H FIE H o3 W2l
dtH —= 2 1 5 24784 -0.9
B KEA 2 6 5 24”86 -2.6
FH B 2 15 4 25”52 -25
K4 RHE O#H FIE Eot

5H F= 2 7 5 57”56

B KEA 2 10 6 58”18

K4 FE OH FIE EoK 53

KE B 2 7 3 2' 06”78

AR H 2 11 6 219729

RE St 1 10 DNS

REF B 2 3 6 2’07715

K4 PHE OH BB RO8%

RE B 2 3 5 4’ 24”63

AP X 1 2 10 4’33"13

INRR AT 2 4 14 4’ 58”56

REF  BLF 2 2 11 4’ 38”02

K4 2HE O #H FIE Hik 4

ki AE 2 1 12 17’ 34741

IBH tE 1 17 17 17’ 50”47

AGRH 1&E 1 2 25 18’ 37763

K4 R O#H BB Hik W2l
AE RA 2 1 1 15”89 -1.1
® =g 2 3 1 16726 -0.6
K4 2HE O #H FIE Hik 4

AE RA 2 3 1 59”15

% 2iE 2 1 2 60”11

K4 #H EIE 0%
M-JbH-SH-AE 6 3 44”51

K4 #H O FIE Eok
M-t H- 2 H 3 3 3' 36770

K4 FE OH HFIE Hl o3 Bh
hE  #7 2 1 23 5m54 +0.6
ZH 2 2 25 5m17 +1.1
AR FLA 2 1 NM

K4 RHE O#H FIE Eot W2l
ZH 2 1 15 11m64 +1.5
xR LA 2 1 DNS

K4 FE OH HFIE H o3

AR A 2 1 20 6m50

K4 RHE O#H FIE Hik 4

AR #HE 2 1 20 23m00
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